Find the Area from the Circumference of the Circle

1)
Circumference = 24nr ft
Area =
1i1)
Circumference = 497 cm
Area =
V)

Circumference = 200z in

Area =

11)
Circumference = 30nr m
Area =

1v)
Circumference = 149r yards
Area =

\2))

Circumference = 2100w cm

Area =
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Find the Area from the Circumference of the Circle
i)

Circumference = 2400x in

Circumference = 820r m
Area =

Area =

iii)

1v)

Circumference = 700r mm Circumference = 81n ft
Area =

Area =

Circumference = 440x in Circumference = 777 yards
Area = Area =




